

On The Degree of Approximation by Modified Beta Bernstein Operators.

Mohammed Feroz Khan¹, Narendra Kumar Kurre²,
Mohammed Aarif Siddiqui³

¹Govt.Pt.J.L.N.P.G.College,Bemetara Bemetara Chhattisgarh India

²Govt.N.C.J.College, Dallirajhara Balod Chhattisgarh India

³Govt.V.Y.T.P.G.College, Durg Durg Chhattisgarh India

ABSTRACT: In this article, we define the modified form of Bernstein type operators based on Beta function developed by Dhawal.J. Bhatt et al. recently. We have proved these operators uniform convergence on the basis of Korovkin's theorem and rate of convergence through modulus of continuity and asymptotic behaviour is shown as Vorovnoskaja type theorem.

Date of Submission: 10-11-2020

Date of Acceptance: 25-11-2020

I. Preliminaries

Most celebrated Weierstrass approximation theorem is the milestone in the development of Approximation theory which is currently understood as the given form :

If $f: [a, b] \rightarrow \mathbb{R}$ continuous and for any $\epsilon > 0$, \exists an algebraic polynomial p such that

$$|f(x) - p(x)| \leq \epsilon, \quad \forall x \in [a, b]$$

Bernstein [1] gave a very sound proof of this theorem and introduced Bernstein polynomial of degree n of the function f defined as

$$B_n f(x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) p_{n,k}(x), \quad (1)$$

where $p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$, and $0 \leq k \leq n$.

Lots of generalisation and improvements [2, 3, 4, 5, 6, 7, 8, 9, 10, 11] of (1) are studied by many researchers.

Recently Dhawal J. Bhatt et al. [12] defined the following Beta-Bernstein operator

$B_n :$

For $f \in C[0, 1]$, $B_n : C[0, 1] \rightarrow C[0, 1]$

$$\mathfrak{B}_n(f; x) = \sum_{k=0}^n P_{n,k}(x) f\left(\frac{k}{n}\right)$$

where $P_{n,k}(x) = \binom{n}{k} \frac{\beta(nx+k+1, 2n-k-nx+1)}{\beta(n+1, n-nx+1)}$, $x \in [0, 1]$, $\beta(a, b)$ is the Beta

function defined as

$$P_{n,k}(x) = \binom{n}{k} \frac{\beta(nx+k+1, 2n-k-nx+1)}{\beta(n+1, n-nx+1)}, x \in [0, 1], \beta(a, b) \text{ is the Beta}$$

function defined as $\beta(a, b) = \int_0^1 t^{a-1}(1-t)^{b-1} dt \quad (a, b > 0)$

Now, we define an operator as substituting $\frac{k}{n}$ by $\frac{k}{n+1}$ in (2) so this newly

defined operator

$$\mathfrak{B}_n^*(f; x) = \sum_{k=0}^n P_{n,k}(x) f\left(\frac{k}{n+1}\right)$$

where $P_{n,k}(x) = \binom{n}{k} \frac{\beta(nx+k+1, 2n-k-nx+1)}{\beta(n+1, n-nx+1)}$, $x \in [0, 1]$, $\beta(a, b)$ is the Beta function defined as $\beta(a, b) = \int_0^1 t^{a-1}(1-t)^{b-1} dt \quad (a, b > 0)$

It is obvious that the introduced operator (3) is a positive linear operator.

Auxiliary Results

Lemma 2.1. [12] If $a, b > 0$ and n and k are nonnegative integers, we have the following results :

$$(i) \text{ For } 0 \leq k \leq n, \sum_{k=0}^n \binom{n}{k} \frac{\beta(a+k, b+n-k)}{\beta(a, b)} = 1$$

$$(ii) \text{ For } 1 \leq k \leq n, \sum_{k=1}^n \binom{n}{k-1} \frac{\beta(a, b)}{a+b} = 1$$

$$\sum_{k=1}^n \binom{n-1}{k-1} \frac{\beta(a+k, b+n-k)}{\beta(a, b)} = \frac{a}{a+b}$$

$$(iii) \text{ For } 1 \leq k \leq n, \sum_{k=1}^n \binom{n-1}{k-1} \frac{\beta(a+k, b+n-k)}{\beta(a, b)} \cdot \frac{k}{n} = \frac{(n+1)(a+b) - a}{n(a+b)}$$

$$(iv) \text{ For } 1 \leq k \leq n, \sum_{k=1}^n \binom{n-1}{k-1} \frac{\beta(a+k, b+n-k)}{\beta(a, b)} \cdot \frac{k^2}{n^2} = \frac{(n-1)(n-2)(a+2)(a+1)a}{n^2(a+b+1)(a+b)} + \frac{n_2(a+b+2)(a+b+1)(a+b)}{n^2(a+b+1)(a+b)}$$

$$(v) \text{ For } 1 \leq k \leq n, \sum_{k=1}^n \binom{n-1}{k-1} \frac{\beta(a+k, b+n-k)}{\beta(a, b)} \cdot \frac{k^3}{n^3} = \frac{(n-1)(n-2)(n-3)(a+3)(a+2)(a+1)a}{n^3(a+b+2)(a+b+1)(a+b)} + \frac{(n-1)(n-2)(a+2)(a+1)a}{n^3(a+b+2)(a+b+1)(a+b)} + \frac{7(n-1)(a+1)a}{n^3(a+b+1)(a+b)} + \frac{a}{n^3(a+b)}$$

Now from the above results, we compute the first four raw moments of the operator B_n in the following lemma.

Lemma 2.2. If $a, b > 0$ and n and k are nonnegative integers, we have the following results :

- (i) $B_n(1; X) = 1$
- (ii) $B_n'(t; X) = \frac{n(n+1)}{(n+1)(n+2)}$
- (iii) $B_n''(t_2; X) = \frac{n(n-1)(n+1)(n+2) + n(n+1)}{(n+1)^2(n+2)(n+3)}$
- (iv) $B_n'''(t_3; X) = \frac{n(n-1)(n-2)(n+3)(n+2)(n+1)}{(n+1)^3(n+4)(n+3)(n+2)}$
- (v) $B_n^{(4)}(t_4; X) = \frac{n(n-1)(n-2)(n-3)(n+4)(n+3)(n+2)(n+1)}{(n+1)^4(n+5)(n+4)(n+3)(n+2)}$
 $+ \frac{6n(n-1)(n-2)(n+3)(n+2)(n+1)}{(n+1)^4(n+2)}$
 $+ \frac{7n(n-1)(n+1)(n+3)(n+2)}{(n+1)^4(n+2)}$

Proof : (i) $B_n'(1; X) = \sum_n$

$$\sum_{k=0}^n \frac{n \beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k$$

From (i) of Lemma 2.1, we obtain

$$B_n(1; X) = 1$$

$$(ii) \quad B_n'(t; X) = \sum_{k=0}^n \frac{n \beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k$$

$$= \frac{n}{n+1} \sum_{k=1}^n \frac{\beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k$$

From (ii) of Lemma 2.1

$$(iii) \quad B_n''(t^2; X) = \sum_{k=0}^n \frac{n \beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k^2$$

$$= \frac{n}{(n+1)^2} \sum_{k=1}^n \frac{\beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k^2$$

$$= \frac{n}{(n+1)^2} \sum_{k=1}^n \frac{\beta(n+1, n-k)}{\beta(n+1, n-k)} \cdot k^2$$

From (iii) of Lemma 2.1

$$(iv) \quad B_n^{(4)}(t^4; X) = \sum_{k=0}^n \frac{n(n-1)(n-2)(n+3)(n+2)(n+1)}{(n+1)^4(n+5)(n+4)(n+3)(n+2)}$$

$$+ \frac{6n(n-1)(n-2)(n+3)(n+2)(n+1)}{(n+1)^4(n+2)}$$

$$+ \frac{7n(n-1)(n+1)(n+3)(n+2)}{(n+1)^4(n+2)}$$

From (iv) of Lemma 2.1

$$= \frac{n(n-1)(n-2)(n+3)(n+2)(n+1)}{(n+1)^3(n+4)(n+3)(n+2)}$$

$$+ \frac{3n(n-1)(n+3)(n+2)}{(n+1)^3(n+2)}$$

$$+ \frac{n(n+1)^3(n+2)}{(n+1)^3(n+2)}$$

$$\begin{aligned}
 (v) \quad \mathbf{B}_n^*(t^4; x) &= \sum_{k=0}^n \beta_{k, n-nx+1} \cdot \frac{k^4}{(n+1)^4} \\
 &= \frac{n^4}{(n+1)^4} \sum_{k=0}^n \beta_{k, n-nx+1} \cdot \frac{k^4}{k^3}
 \end{aligned}$$

From (v) of Lemma 2.1

$$\begin{aligned}
 &= \frac{n(n-1)(n-2)(n-3)(nx+4)(nx+3)(nx+2)(nx+1)}{(n+1)^4(n+5)(n+4)(n+3)(n+2)} \\
 &+ \frac{-6n(n-1)(n-2)(nx+3)(nx+2)(nx+1)}{(n+1)^4(n+4)(n+3)(n+2)} \\
 &+ \frac{7n(n+1)(n+3)(n+2)}{(n+1)^4(n+2)} + \frac{n(n+1)^4(n+2)}{(n+1)^4(n+2)}
 \end{aligned}$$

Now we compute the moment estimation of our defined operator \mathbf{B}_n about x in the following lemma.

Lemma 2.3. For $x \in [0, 1]$, ρ^n ($\rho = 0, 1, 2$) moments for the defined operator \mathbf{B}_n about x are as follows :

- (i) $\mathbf{B}_n^*(t-x)^0; x) \Sigma = 1$
- (ii) $\mathbf{B}_n^*((t-x); x) = \frac{x(3n-2)+n}{(n+1)}$
- (iii) $\mathbf{B}_n^*(t-x)^2; x) \Sigma = \frac{x^2(7n^2+15n^2+17n+6)+x(2n^3-4n^2-2n)+(3n^2+n)}{(n+1)^2(n+2)(n+3)}$

Proof :

(i) $\mathbf{B}_n^*(t-x)^0; x) \Sigma = \mathbf{B}_n^*(1; x)$

From (i) of Lemma 2.2, we have

$$\mathbf{B}_n^*(t-x)^0; x) \Sigma = \mathbf{B}_n^*(1; x)$$

From the linearity of \mathbf{B}_n and from (i), (ii) of lemma 2.1, we have

$$\begin{aligned}
 \mathbf{B}_n^*((t-x); x) &= \frac{n(n+1)}{(n+1)(n+2)} - x \\
 &= \frac{n-3nx-2x}{(n+1)(n+2)} = \frac{x(3n-2)+n}{(n+1)}
 \end{aligned}$$

From the linearity of \mathbf{B}_n and from (i), (ii), (iii) of lemma 2.1, we obtain

$$\begin{aligned}
 \mathbf{B}_n^*(t-x)^2; x) \Sigma &= \frac{n(n-1)(nx+1)(nx+2)}{(n+1)^2(n+2)(n+3)} + \frac{n(nx+1)}{(n+1)(n+2)} \\
 &= \frac{x^2(7n^2+15n^2+17n+6)+x(2n^3-4n^2-2n)+(3n^2+n)}{(n+1)^2(n+2)(n+3)}
 \end{aligned}$$

From the above similar process, it is obvious that

$$\mathbf{B}_n^*(t-x)^3; x) \Sigma \geq 0$$

$$\mathbf{B}_n^*(t-x)^4; x) \Sigma \geq 0$$

II. Main Result

Now, following theorem refer the *uniform convergence* of B_n for a function $f \in C[0, 1]$ with the norm

$$\|f\| = \sup_{x \in [0,1]} |f(x)|$$

Theorem 3.1. *If $f \in C[0, 1]$, $x \in [0, 1]$ then*

$$\|B_n(f; x) - f(x)\| \rightarrow 0$$

uniformly as $n \rightarrow \infty$

Proof : From lemma 2.2, we have

$$B_n(1; x) = 1$$

$$B_n(t; x) = \frac{n(n+1)x}{(n+1)(n+2)}$$

$$B_n(t^2; x) = \frac{n(n-1)(n+1)(n+2)x^2 + 3n(n+1)x}{(n+1)^2(n+2)(n+3)} + \frac{n(n+1)}{(n+1)^2(n+2)}$$

It is clear that as $n \rightarrow \infty$, $B_n(t^m; x)$ converges uniformly to x^m ($m = 0, 1, 2$), $x \in [0, 1]$ from Korovkin's theorem [13].

III. Rate of Convergence

The modulus of continuity for $f \in C[a, b]$ is given by

$$\omega(f, \delta) \equiv \omega(f, \delta) = \sup_{\substack{x-\delta \leq t \leq x \\ a \leq x \leq b}} |f(t) - f(x)|, \quad \delta > 0$$

The rate of convergence of the sequence of operators B_n is estimated in the following theorem in terms of modulus of continuity of first order.

4 Theorem 4.1. *If $f \in C[0, 1]$, $x \in [0, 1]$ then*

$$|B_n(f; x) - f(x)| \leq 2\omega(f, \sqrt{\delta_n})$$

where $\delta_n = B_n(t-x)^2; x \in [0, 1]$

Proof : We have

$$|B_n(f; x) - f(x)| \leq$$

$$\begin{aligned} & \sum_{k=0}^n P_{n,k}(x) |f(t_k) - f(x)| \\ & \leq \sum_{k=0}^n P_{n,k}(x) \omega_1\left(\frac{|t_k - x|}{\sqrt{\delta_n}}\right) \\ & \leq \sum_{k=0}^n P_{n,k}(x) \omega_1\left(\frac{|t_k - x|}{\sqrt{\delta_n}}\right) \\ & = \sum_{k=0}^n P_{n,k}(x) \omega_1\left(\frac{|t_k - x|}{\sqrt{\delta_n}}\right) \\ & = \sum_{k=0}^n P_{n,k}(x) \omega_1\left(\frac{|t_k - x|}{\sqrt{\delta_n}}\right) \\ & = \sum_{k=0}^n P_{n,k}(x) \omega_1\left(\frac{|t_k - x|}{\sqrt{\delta_n}}\right) \end{aligned}$$

Now, if we choose

δ_{n-2}

$$\delta_n = \delta_n = \mathbf{B}_n((t-x)^2; x)$$

then we obtain

$$|\mathbf{B}_n(f; x) - f(x)| \leq 2\omega(f, \sqrt{\delta_n})$$

Theorem 4.2. If $f \in Lip_C(r)$, $C > 0$, $0 < r \leq 1$ then

$$|\mathbf{B}_n(f; x) - f(x)| \leq C\delta_{nr}(x)$$

where $\delta_{nr}(x) = \mathbf{B}_n((t-x)^2; x)^{1/2}$

Proof: In view of the monotonicity and linearity of \mathbf{B}_n , we get

$$\begin{aligned} |\mathbf{B}_n(f; x) - f(x)| &\leq \sum_{k=0}^n P_{n,k}(x) |f(n+1) - f(x)| \\ &= C \sum_{k=0}^n P_{n,k}(x) \cdot \frac{k}{n+1} \cdot x \sum_{r=2}^{\infty} \sum_{r/2}^{\infty} (P_{n,k}(x))^{1-r/2} \end{aligned}$$

From Holder's inequality, we obtain

$$\begin{aligned} &= C \sum_{k=0}^n P_{n,k}(x) \cdot \frac{k}{n+1} \cdot x \sum_{r=2}^{\infty} \sum_{r/2}^{\infty} P_{n,k}(x)^{1-r/2} \\ &= C \sum_{k=0}^n P_{n,k}(x) \cdot \frac{k}{n+1} \cdot x \sum_{r=2}^{\infty} \sum_{r/2}^{\infty} \\ &= C \mathbf{B}_n((t-x)^2; x)^{1/2} \\ &= C\delta_{nr}(x) \end{aligned}$$

where $\delta_{nr}(x) = \mathbf{B}_n((t-x)^2; x)^{1/2}$

5 Vorovnoskaja type theorem

Now, we give a Vorovnoskaja type asymptotic formula for our defined operator \mathbf{B}_n .

Lemma 5.1. If $x \in [0, 1]$, then

$$\lim_{n \rightarrow \infty} n \mathbf{B}_n((t-x); x) = 1 - 3x$$

Proof: From (ii) of lemma 2.3, we have

$$n \mathbf{B}_n((t-x); x) = \frac{x(-3n-2)+n}{(n+1)(n+2)}$$

so we get

$$\lim_{n \rightarrow \infty} n \mathbf{B}_n((t-x); x) = 1 - 3x$$

Lemma 5.2. If $x \in [0, 1]$, then

$$\lim_{n \rightarrow \infty} n \mathbf{B}_n((t-x)^2; x) = x(7x+2)$$

Proof: From (iii) of lemma 2.3, we have

$$n \mathbf{B}_n((t-x)^2; x) = \frac{x^2(7n^3+15n^2+17n+6)+x(2n^3-4n^2-2n)+(3n^2+n)}{(n+1)^2(n+2)(n+3)}$$

then we get

$$\lim_{n \rightarrow \infty} n \mathbf{B}_n((t-x)^2; x) = x(7x+2)$$

Now, we prove the main theorem.

Theorem 5.1. *If $f \in C[0, 1]$ and $f', f'' \in C[0, 1]$ where $x \in [0, 1]$ then*

$$\lim_{n \rightarrow \infty} n(\mathbf{B}_n(f; x) - f(x)) = (1 - 3x)f'(x) + x\left(\frac{7}{2}x + 1\right)f''(x)$$

Proof : From Taylor's expansion, we have –

$$f(t) = f(x) + (t-x)f'(x) + \frac{(t-x)^2}{2}f''(x) + h(t)(t-x)^2 \quad (4)$$

where $h(t) \in C[0, 1]$ is Peano type remainder and $\lim_{t \rightarrow x} h(t) = 0$

Now

$$n(\mathbf{B}_n(f; x) - f(x)) = nf'(x)\mathbf{B}_n((t-x); x) + \frac{n}{2}f''(x)\mathbf{B}_n((t-x)^2; x) + n\mathbf{B}_n(h(t)(t-x)^2; x) \quad (5)$$

from Cauchy-Schwarz inequality, we get

$$n\mathbf{B}_n(h(t)(t-x)^2; x) \leq \sqrt{\mathbf{B}_n(h^2(t); x)} \cdot \sqrt{n\mathbf{B}_n((t-x)^4; x)} \quad (6)$$

Here $n\mathbf{B}_n((t-x)^4; x)$ is nonnegative and finite for $x \in [0, 1]$ refer to lemma 2.3 and $\lim_{t \rightarrow x} h(t) = 0$

\mathbf{B}_n is uniformly convergent for $f(t) \in C[0, 1]$ so we obtain

$$\lim_{n \rightarrow \infty} (h^2(t); x) = h^2(x) = 0$$

From (6) we have $n\mathbf{B}_n(h(t)(t-x)^2; x) = 0$

and from (5) of lemma 5.1, 5.2

$$\lim_{n \rightarrow \infty} n(\mathbf{B}_n(f; x) - f(x)) = (1 - 3x)f'(x) + x\left(\frac{7}{2}x + 1\right)f''(x)$$

References

- [1] S. Bernstein, "constructive proof of weierstrass approximation theorem, comm," *Kharkov Math. Soc.*, vol. 13, no. 1-2, 1912.
- [2] L. Kantorovich, "Sur certains développements suivant les polynômes de la forme de s," *Bernstein, I, II, CR Acad. URSS*, vol. 563, p. 568, 1930.
- [3] J. L. Durrmeyer, *Une formule d'inversion de la transformée de Laplace: Applications à la théorie des moments.* PhD thesis, 1967.
- [4] V. A. Baskakov, "The order of approximation of differentiable functions by certain positive linear operators," *Mathematics of the USSR-Sbornik*, vol. 5, no. 3, p. 333, 1968.
- [5] Y. Kageyama, "A new class of modified bernstein operators," *Journal of approximation theory*, vol. 101, no. 1, pp. 121–147, 1999.
- [6] M.-M. Derriennic, "Modified bernstein polynomials and jacobi polynomials in q-calculus," *arXiv preprint math/0410206*, 2004.
- [7] N. Deo and S. P. Singh, "On the degree of approximation by new durrmeyer type operators," *General Math*, vol. 18, no. 2, pp. 195–209, 2010.

- [8] M. Siddiqui, R. Agrawal, and N. Gupta, "On a class of modified new bernstein operators," *Adv. Stud. Contemp. Math.(Kyungshang)*, vol. 24, no. 1, pp. 97–107, 2014.
- [9] E. Ostrovsky and L. Sirota, "Generalized bernstein-type approximation of continuous functions," *arXivpreprint arXiv:1608.00295*, 2016.
- [10] V. A. Radu, "Quantitative estimates for some modified bernstein- stancu operators," *MiskolcMathematicalNotes*, vol. 19, no. 1, pp. 517– 525, 2018.
- [11] A. Kajla, T. Acar, *et al.*, "Modified α -bernstein operators with better approximation properties," *Annals of Functional Analysis*, vol. 10, no. 4, pp. 570–582, 2019.
- [12] D. J. Bhatt, V. N. Mishra, and R. K. Jana, "On a new class of bernstein type operators based on beta function," *Khayyam Journal of Mathematics*, vol. 6, no. 1, pp. 1–15, 2020.
- [13] P. Korovkin, "On convergence of linear positive operators in the space of continuous functions," in *Dokl. Akad. Nauk.SSSR*, vol. 90, pp. 961– 964, 1953.

Mohammed Feroz Khan, et. al. "On The Degree of Approximation by Modified Beta-Bernstein Type Operators." *IOSR Journal of Mathematics (IOSR-JM)*, 16(6), (2020): pp. 10-17.